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Question Number : 1 Question Id : 26723611121 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



[n measurement systems, which of the following static characteristics are

desirable

(A) Accuracy

(B) Sensitivity

(C) Reproducibility

(D) All the answers are correct
Options:

1.¥A

2. % B

3.% C

4. % D

Question Number : 1 Question Id : 26723611121 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B

3.% C



4. % D

Question Number : 2 Question Id : 26723611122 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
[f the quantity is slowly varied from zero. output is not shown until some

minimum value of input is exceeded. This minimum value of input is called

(A) Accuracy

(B) Sensitivity

(C) Reproducibility

(D) Threshold
Options:
1.¥ A

2. % B

3.% C

4. % D

Question Number : 2 Question Id : 26723611122 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 3 Question Id : 26723611123 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following sensors is not a resistive sensor?

(A) RTD

(B) Thermistor

(C) Strain Gauge

(D) Thermocouple
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 3 Question Id : 26723611123 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 4 Question Id : 26723611124 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The main problems associated with the resistive sensors

(A) Self-heating

(B) Contact Resistance

(C) Lead resistance

(D) All the answers are correct
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 4 Question Id : 26723611124 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. # B

3.% C



4. % D

Question Number : 5 Question Id : 26723611125 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following sensors is a self-generating sensor?

(A) RTD

(B) Thermistor

(C) Strain Gauge

(D) Thermocouple
Options:

1.¥A

2. % B

3. % C

4. % D

Question Number : 5 Question Id : 26723611125 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 6 Question Id : 26723611126 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
What type of signal conditioning circuit is used for Piezo electric transducer?

(A) Chopper Amplifier

(B) Schering Bridge

(C) Charge Amplifier

(D) Wheatstone Bridge
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 6 Question Id : 26723611126 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 7 Question Id : 26723611127 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The transducer that converts the input signal into output signal, which is a discrete

function of time, is known as transducer.
(A) Active
(B) Analog
(C) Digital

(D) Pulse
Options :
1.¥v A



3.%C

4. % D

Question Number : 7 Question Id : 26723611127 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A
2. % B
3.%C

4. % D

Question Number : 8 Question Id : 26723611128 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The transducers which require an external power and their output is a measure of

(A) some variation such as resistance, inductance, capacitance etc., are called as

(B) Active transducer

(C) Primary sensor

(D) Passive transducer
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 8 Question Id : 26723611128 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A

2. % B



3.% C

4. %D

Question Number : 9 Question Id : 26723611129 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Hysteresis of an instrument is

(A) The inaccuracy due to change in temperature

(B) The reliability of the instrument

(C) The repeatability of the instrument

(D) The change in the same reading when input is first increased and then decreased
Options:

1.¢A

2. % B

3. % C

4. %# D

Question Number : 9 Question Id : 26723611129 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 10 Question Id : 26723611130 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
For eliminating the effect of earth capacitance from the bridge network we use

(A) High voltage at low frequency

(B) Wagner’s earthing device

(C) Low voltage at high frequency

(D) Campbell-Maxwell device
Options :
1.¥A

2. % B



3.% C

4. %D

Question Number : 10 Question Id : 26723611130 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:

1.9 A

2. % B

3.% C

4. %# D

Question Number : 11 Question Id : 26723611131 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A chopper amplifier is one which

(A) Converts AC signal from low frequency to high frequency

(B) Converts DC signal from low frequency to high frequency

(C) Converts AC signal from low frequency to DC high frequency

(D) Converts DC signal from low frequency to high frequency
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 11 Question Id : 26723611131 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¢ A

2. % B

3.% C



Question Number : 12 Question Id : 26723611132 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The resistance of LDR when exposed to radiant energy

(A) Remains unaltered

(B) Increases

(C) Reaches maximum

(D) Decreases
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 12 Question Id : 26723611132 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 13 Question Id : 26723611133 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In foil strain gauge the thickness of foil varies from

(A) 2.5 micron to 6 micron

(B) 25 micron (or) less

(C) 25 micron to 60 micron

(D) 2.5 micron to 5 micron
Options :

1.9 A

2. % B

3. % C

4. % D

Question Number : 13 Question Id : 26723611133 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



PIge T 119 H Biga &1 Alers 4 i gt 8
() 2.5 HISH I ¥ 6 HISH
ey 25 HIFHH (AN HH
(M 25 HIEHIA | 60 HIZHI

() 2.5 A A 5 AP

Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 14 Question Id : 26723611134 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The sensitivity is highest in thermal sensor.

(A) RTD

(B) Thermistor

(C) thermometer

(D) Thermocouple
Options :

1.¥A

2. % B

3.% C



Question Number : 14 Question Id : 26723611134 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¢ A

2. % B

3.% C

4. % D

Question Number : 15 Question Id : 26723611135 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In a LVDT, the two secondary voltages

(A) Areindependent of the core position

(B) Vary unequally depending on the core position

(C) Vary equally depending on the core position

(D) Are always in phase quadrature



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 15 Question Id : 26723611135 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. A
2. % B
3. % C

4. % D

Question Number : 16 Question Id : 26723611136 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following can be measured with the help of piezo electric crystal?

(A) Force

(B) Temperature

(C) Sound

(D) All the answers are correct
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 16 Question Id : 26723611136 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. # B

3.% C



4. % D

Question Number : 17 Question Id : 26723611137 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A piezoelectric crystal having dimensions of 5mmx5mm:1.5mm and a voltage

sensitivity of 0.055 Vm/N is used for force measurement. The force applied if the

voltage developed is 100V is

(A) 25N

(B) 38N

(C) 303N

(D) 21.8N
Options :
1.¥ A

2. % B
3.% C

4. % D

Question Number : 17 Question Id : 26723611137 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C
4. % D

Question Number : 18 Question Id : 26723611138 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
To measure the average temperature of the medium, thermocouples are

connected usually in

(A) Series

(B) Parallel

(C) series-parallel

(D) All the answers are correct



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 18 Question Id : 26723611138 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. # B
3.% C

4. % D

Question Number : 19 Question Id : 26723611139 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The dead zone of a certain pyrometer is 0.125 % of the span. The calibration is

800"C to 1800°C. What temperature change must occur before it is detected?

(A) 2.25°%

(B) 0.25°C

(C) 12.25%

(D) 1.25°C
Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 19 Question Id : 26723611139 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A



2. % B
3.% C

4. % D

Question Number : 20 Question Id : 26723611140 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

A pressure gauge is calibrated from 0-50 kN/m?. It has a uniform scale with 100
scale divisions. One fourth of a scale division can be read with certainty, The

gauge has

(A) Resolution of 0.5 kN/m?

(B)  dead zone of 0.125 kN/m?

(C) Threshold of 0.125 kN/m?

(D) Resolution of 0.125kN/m’
Options :

1.¥ A

2. % B

3. % C

4. % D

Question Number : 20 Question Id : 26723611140 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 21 Question Id : 26723611141 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A 0-10A ammeter has 100 divisions which can read to 1/4 division. The

resolution of the meter is
(A) 1.025A
(B) 2.025A
(C) 0.025A

(D) 0.125A
Options :



1.9 A

3.%C

4. % D

Question Number : 21 Question Id : 26723611141 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
T 0-10A THeX § 100 fdoH gl § ot 1/4 Fdiom & ug Iahd 81 Hicx
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(P) 1.025A
(Q) 2.025A
) 0.025A

() 0.125A
Options:

1.9 A

2. * B

3. % C

4. # D

Question Number : 22 Question Id : 26723611142 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Pressure of 0.01 psi (absolute) can be measured by gauge

(A) Pirani

(B) lonization

(C) Mcloid

(D) None of the above
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 22 Question Id : 26723611142 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.+ A
2. % B

3.% C



Question Number : 23 Question Id : 26723611143 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following judges the accuracy of an instrument?

(A) Drift

(B) Dead zone

(C) Static error

(D) None of the above
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 23 Question Id : 26723611143 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 24 Question Id : 26723611144 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
When a bare thermocouple is covered by a protective sheath, the response

becomes

(A) faster and non-oscillatory

(B) faster and oscillatory

(C) slower and oscillatory

(D) slower and non-oscillatory
Options:

1.¥A

2. % B

3.%C

4. % D

Question Number : 24 Question Id : 26723611144 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥A
2. % B
3. % C
4. % D

Question Number : 25 Question Id : 26723611145 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Magnetic flowmeters are generally not used for the velocity/flow measurement

of hydrocarbons due to their

(A) low thermal conductivity

(B) high viscosity index

(C) low electrical conductivity

(D) low flash point
Options :

1.¥ A



3.%C

4. % D

Question Number : 25 Question Id : 26723611145 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 26 Question Id : 26723611146 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Signal conditioning is carried out by the capillary tubes which convert gas

pressure into a mercury height. This statement pertains to
(A) Bourdon tube pressure gauge
(B) Pirani gauge
(C) Mcleod gauge

(D) Diaphragm pressure transducer
Options :

1.¥A

2. % B

3.% C

4. % D

Question Number : 26 Question Id : 26723611146 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A



3.%C

4. % D

Question Number : 27 Question Id : 26723611147 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
is measured below atmospheric pressure

(A) Gauge pressure

(B) Vacuum Pressure

(C) Absolute pressure

(D) All answers are wrong
Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 27 Question Id : 26723611147 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥A

2. % B

3.% C

4. # D

Question Number : 28 Question Id : 26723611148 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Radiation pyrometers are used in the temperature range of

(A) 0-500°C
(B) 500-1000¢C
(C) -250-5002C

(D) 1200-2500¢2C
Options :

1.+ A

2. % B

3.% C



Question Number : 28 Question Id : 26723611148 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options:
1.4 A
2. % B
3. % C

4. % D

Question Number : 29 Question Id : 26723611149 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Law of intermediate metals in thermocouples allows them to

(A) Use reference junction compensation

(B) Use meters for measurement without disturbing the circuit conditions

(C) Use extension wires of materials other than the one used for making thermocouples

(D) Both [B]and [C]



Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 29 Question Id : 26723611149 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 30 Question Id : 26723611150 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The temperature transducers exhibit non-linear behavior. The order in which they

exhibit non linearity (highest to lowest) is

(A) Thermocouple, RTD, thermistor

(B) Thermistor, Thermocouple, RTD

(C) RTD, Thermocouple, thermistor

(D) Thermistor, RTD, Thermocouple
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 30 Question Id : 26723611150 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 31 Question Id : 26723611151 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
A horizontal pipe line conveys a constant rate of flow which is measured by a Venturi

meter located in it. When the pipe is inclined upward in the direction of flow, the

deflection on a differential manometer will

(A) Increase

(B) Decrease

(C) Remain same

(D) Provide erroneous result
Options :

1.9 A

2. * B

3. % C

4. % D

Question Number : 31 Question Id : 26723611151 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 32 Question Id : 26723611152 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The temperature resistance relation of thermistor is given by

(A) Ruw=Ru explB((1/To)-(1/T1))]

(B)  Reo=Rex exp[B((1/T1)+(1/To))]

(C) Rw=Ru B exp[((1/To)-(1/T1))]

(D)  Ruw=Ru exp[B((1/To)+(1/T1))]
Options :

1.¥ A

2. % B



3.% C

4. %D

Question Number : 32 Question Id : 26723611152 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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(@) Rio=Ru1 exp[B((1/To)-(1/T1))]
{E‘) Riwo=Ru1 EKP[B“:L!‘TJ:""{UTD}”
@ Rio=Ru B exp[((1/To)-(1/T4))]

) Rio=Re1 exp[B((1/To)+(1/T1))]
Options:

1. A

2. % B

3. % C

4. % D

Question Number : 33 Question Id : 26723611153 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



As the temperature of a carbon film resistor increases what happens to the resistance

and the power dissipated by the resistor?

(A) Resistance increases, power increases

(B) Resistance decreases, power increases

(C) Resistance increases, power stays the same

(D) Resistance decreases, power decreases
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 33 Question Id : 26723611153 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

-0 e fthe YRR BT ATUHH Sedl 8, Uikl &1 307 i & SR Uik
1 Qe 31 faue g 87

@) Wy e g, Wdd dgdlt 8
@ vy vedie, vid gt g
M iRy Sga 8, e §HH Wl 6

) HfeRIY Teal g, Tfdd uedl §
Options :
1.¥ A

2. % B



3.% C

4. %D

Question Number : 34 Question Id : 26723611154 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The deviation of the results obtained when same value of the input quantity is

measured at different times and under different condition of usage by different

instruments is termed as

(A) Reproducibility

(B) Repeatability

(C) Hysteresis

(D) Sensitivity
Options:
1.¥A

2. % B

3.%C

4. % D

Question Number : 34 Question Id : 26723611154 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



ST 37YC HEAT T U g} HeT S-S G W A0 e g R fafi
JUBRN gRT AN & A Wl & dgd U uRomHf &1 fage Hgl e
g

(P)  YTedieddl

PENGREIBG]
(%9)

) R

() RECENIGR
Options:

1.9 A

2. % B

3.% C

4. %D

Question Number : 35 Question Id : 26723611155 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Assume that a diaphragm pressure transducer is to be designed for a maximum
rated pressure of 1000 psi under which a pressure output from a steel diaphragm
should be 2 mV/V. If the diameter is 0.670 in find diaphragm thickness

assuming Young’s modulus is 30 x10 ® psi and poisons ratio is 0.285

(A) 0.036in

(B) 0.36in

(C) 0.0036in

(D) 3.6in
Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 35 Question Id : 26723611155 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



T o fob Ueh ST TR TSR &1 1000 psi & HUDTH XS Go1d B
fore fee foran o g, foreds ded Wi STamhT ¥ 16 TR $1See 2
mV /v §IF1 91fgU I e oar 0.670 ¢ Forad Srawe ol Hiets 4w o Hidich

30 X 10 6 psi IR T8 X0 0.285 B
(@) 0.036n
(@) 0.36in
) 0.00361in
(@) 3.6in
Options :
1.¥ A
2. % B
3. % C
4, % D

Question Number : 36 Question Id : 26723611156 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
[n a strain recording system for 120 € resistor of one arm Wheatstone bridge

with Sg = 2 and strain = 1000 micro strain calculate the compensating resistor

(A) 59880

(B) 59888

(C) 58980 Q

(D) 50889 Q



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 36 Question Id : 26723611156 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Sg = 2 % T4 TP g1 RICRH fel & 120 Q IR & forw &= Rapiran
Ryem & 3R 1000 Agsh! R TR YRR B 0T H2al 31

() 59880
(9) 59888
™ 58980 0

() 50889 0
Options :

1.4 A

2.% B

3. % C

4. % D

Question Number : 37 Question Id : 26723611157 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The ratio of output signal or response of the instrument to a change in input or

measured variable is called
(A) Sensitivity
(B) Precision
(C) Resolution

(D) Threshold
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 37 Question Id : 26723611157 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

§e 71wt R ¥ uRed & forg arseqe R a1 e @t vfofba & o

B
@)  Hoeii
(c) &l
) fRra
®) i ke
Options :

1.¥ A

2. % B



3.% C

4. %D

Question Number : 38 Question Id : 26723611158 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Unit of specific resistance is

(A) ohm-meter

(B) ohm/meter

(C) mho-meter

(D) mho/meter
Options:

1.9 A

2. % B

3.%C

4. %# D

Question Number : 38 Question Id : 26723611158 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Rty uRkly 3t 53718 &

™ TATFSHT-HIeER

) THUG3H/HIeT

Options :
1.¥A
2. % B
3. % C

4. % D

Question Number : 39 Question Id : 26723611159 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Find voltage across 4 chms

2 ohm

EUCz 4\;@_:)

(A) -8V

(B) 4av

(C) -4V

(D) 8v
Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 39 Question Id : 26723611159 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



4 319 # giecsl 1 Ud1 g

2 ahm

BVC_D 4\(@)

(9) 4V

Q) 4V

(d) 8V

Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 40 Question Id : 26723611160 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Find Vx in the following circuit

2V

1 ohm

15“(:) Sohm Vx

:

2 ohm

(A) 6V

(B) 5.1V

(C) 4.16V

(D) 2v
Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 40 Question Id : 26723611160 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Fafafea afée & vy &1 udr e
2Vx

—NV\VN—C

1chm

0 sohm _— vx

2 ohm

(M) =)

(M 416V

) 2V

Options :
1.4 A
2. # B
3.%C

4. % D

Question Number : 41 Question Id : 26723611161 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Find Vrms for the voltage wave shape given in figure below

T 2T Time

(A) A2

(B) AN3

€ A

(D) 2A/N3
Options:
1.9 A

2. % B

3.% C

4. % D

Question Number : 41 Question Id : 26723611161 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



At faw e for  fg e dlees o sopfa o forg @i

A
A
0 >
T 2T Time
-A
(@) Af2
(@) A/N3
) A
() 2AN3
Options :
1.¥ A
2. % B
3.% C
4, % D

Question Number : 42 Question Id : 26723611162 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The average power supplied by the voltage source is

' NN N—
4 ohm
s-300v() AR

(A) 1W

(B) 2w

(C) 25W

(D) 3w
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 42 Question Id : 26723611162 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



diecs |Id gRT STl 1 S arel fid Wfed 3

— ANV
4 ohm
5_30° ‘;_C_D -j 2 ohm ——

) 25W

() 3W

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 43 Question Id : 26723611163 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



A series-connected load draws a current i(t) = 4 cos(100x t+10) A when the applied
voltage is v(t) = 120 cos (100xnt - 20)V. Find the apparent power and the power factor
(pf) of the load

(A) 240 VA, pf=0.866

(B) 220 VA, pf=0.866

(C) 200 VA, pf=0.9

(D) 210VA, pf=0.92
Options :

1.4 A

2. # B

3.%C

4. %D

Question Number : 43 Question Id : 26723611163 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
TS Ya-Bides T TP URTi(t) = 4 cos(1007 t+10) A T8 TRAZFS Tl v(t) =
120 cos (100t - 20)V & | TS & SfTRC TR R TGN T (pf) 1 Il TG

(@) 240 VA, pf=0.866

@) 220 VA, pf=0.866
a 200 VA, pf=0.9
) 210 VA, pf=0.92

Options :



1.9 A

3.%C

4. % D

Question Number : 44 Question Id : 26723611164 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Relation between the line voltage and phase voltage for star connection

(A) Vp=v3 VL

(B) VL=v3Vp

(C) VL=3Vp

(D) VP=3VL
Options :
1.¥ A

2. % B

3.% C

4. %D

Question Number : 44 Question Id : 26723611164 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



WR HaRA & (010 A5 dieedl 3R B diees & ord §aY 8

(@) Vp=v3 VL

@) VL=v3 Vp

an VL=3 Vp

) VP=3VL
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 45 Question Id : 26723611165 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Determine Z parameters for the circuit given below

—AM AMA—

2 ohm 30 ohm

40 ohm

(A) Z211=42 ohm, Z12=40 ohm, Z21= 40 ochm, Z22=60 ohm

(B) Z11=60 ohm, Z12=40 ohm, Z21= 40 ohm, Z22=60 ohm

(C) 711=32 ohm, Z12=40 ohm, Z21= 60 ohm, Z22=40 ohm

(D) Z11=40 ohm, Z12=32 ohm, Z21= 40 ohm, Z22=60 ohm
Options :

1. A

2. % B

3.% C

4. % D

Question Number : 45 Question Id : 26723611165 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



el feg g Hiche & forg z TRreter Feid 33

—A\M, AM—

2 ohm 30 ohm

40 ohm

(@) Z11 = 42 3fIH, Z12 = 40 3/, 21 = 40 3MH, 722 = 60 3MH

Z11 = 60 3MF. Z12 = 40 319 721 = 40 301H, 722 = 60 AH

) 711 = 32 319, 712 = 40 319, 721 = 60 31H, 722 = 40 9

() Z11 = 40 319, Z12 = 32 319, Z21 = 40 34, 222 = 60 3H
Options :

1.¥A

2. % B

3. % C

4. % D

Question Number : 46 Question Id : 26723611166 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The depletion region in the pn junction comprises of which of the following

(A) Accumulated holes in p side and accumulated electrons in n side

(B) lonized donors in p side and ionized acceptors in n side

(C) lonized acceptors in p side and ionized donors in n side

(D) Accumulated electrons in p side and accumulated holes in n side
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 46 Question Id : 26723611166 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Pn SiaRM H 3aed &7 § Fofafea & @ o= it g
(P) P T3S H Hfd 81 ok n 9138 # Hfud saagi-4
@) P WSS T Mafd gransii iR n wigs A smafid THmR
ey p WTEE T Smafd Widdl 3R n Trge T smafid gra
(&) p TTFS H A Saiae 2R n A1ES H Hfd ged
Options :
1.¥ A

2. % B

3.% C



4. % D

Question Number : 47 Question Id : 26723611167 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Unit of mobility is

(A) Vms!

{ B) mzv-ls-l

(C) mvis?

(D) m'vs
Options:
1.¥ A

2. % B
3.%C

4. % D

Question Number : 47 Question Id : 26723611167 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Hifaferdt 31 g 3
@  Vms
@) L
Q) mv's?

fED m Vs



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 48 Question Id : 26723611168 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Match the following (i) Avalanche breakdown (ii) Zener breakdown (iii) punch through

effect
(a) Collision of carriers with crystal ions
(b) Early effect

(c) Rupture of covalent bonds due to strong electric fields

(A) (i)cii)a(ii)b

(B) (i) a (ii) c (iii) b

(C) (i) b (ii)a (iii) c

(D) (i) ¢ (ii) b (iii)
Options:

1. A

2. % B

3. % C

4. % D

Question Number : 48 Question Id : 26723611168 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



o @1 frem ®% () Al sweeT (i) SR sFeR (i) U Y shae
@ frea o T WY @@ 0F @A
(b) IR JuTa
(c) R Saifdee Bits & HRU TggaIa® a8 BT gl

(P) (i) c (i) a(ii)b

(9) (i) a (i) c (i) b

tl) (i) b (ii) a (iii) c

() (i) c (i) b (iii) a

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 49 Question Id : 26723611169 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following valve types has an actuator that is of quick acting type,

requiring only 90° turn of the handle to fully open or close the valve

(A) Ballvalve

(B) Globe valve

(C) Pinchvalve

(D) Gate valve

Options :



1.9 A

3.%C

4. % D

Question Number : 49 Question Id : 26723611169 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

Foffed # @ 59 9@ U # @ Tt § W Be e TRy @1 g,
el o @1 Ot e ¥ Wiew 1§ B & U g 31 dad 900 gHA
G CRUGT IR

() gl dred
(@) A9 e
Q) LEEI

(9) Tie dled
Options:
1.4 A

2. % B

3. % C

4. % D

Question Number : 50 Question Id : 26723611170 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Cavitation in a control valve happens due to

(A) Vibration

(B) Process noise

(C) Improper tuning of controller

(D) Pressure recovery
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 50 Question Id : 26723611170 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

U® Heid aled H HIquceE & HRUI BIal §

(®)  dEEEH

(@) g g

ey SUTOR ST 316 Pl

(0 U3R Repad
Options :

1.¥v A

2. % B

3.% C



4. % D

Question Number : 51 Question Id : 26723611171 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Calculate the necessary Cv rating (valve coefficient) for a liquid service valve, given a

pressure drop of 24 PSID, a specific gravity of 1.3, and a maximum flow rate of 140

GPM

(A) 3258

(B) 52.38

(C) 2358

(D) 38.58
Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 51 Question Id : 26723611171 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



24 PSID BT IR 310, 1.3 B TP AR T R 140 GPM Bt H@HaH T8 &R
oI o v gu foifes wfdw atea & g smawae v ¥ @rea Turies) 1 Tom

Gy

@) 32.58
(@) 52.38
@ 23.58
@) 38.58
Options :
1.¥ A

2. ¥ B

3. % C

4. % D

Question Number : 52 Question Id : 26723611172 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following controllers can eliminate offset?

(A) P

(B) PI

(C) PID

(D) PlandPID
Options :

1.¥A



3.%C

4. % D

Question Number : 52 Question Id : 26723611172 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fFafafed A @ oF 91 Fdae sifvde & 9 oL 96d 87

(P) il

(@) EIEIS

) RIS R

() glag 3R dienss!

Options :
1.¥ A
2. # B
3.% C

4. % D

Question Number : 53 Question Id : 26723611173 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The on-off controller is a system

(A) Linear

(B) Non linear

(C) Discontinuous

(D) Digital
Options :
1.¥ A

2. % B

3.% C

4. % D

Question Number : 53 Question Id : 26723611173 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

-3 Feler e

(P) ferfaR

(@) A fafR
m fewpiciATg
() feforea
Options :

1.¥A

2. % B

3.% C



4. % D

Question Number : 54 Question Id : 26723611174 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
In a flash type ADC to increase conversion speed comparators are connected in

parallel

(A) 21

(B) 2n

(C) 2"+

(D) None
Options:
1.4 A
2. % B
3. % C

4. % D

Question Number : 54 Question Id : 26723611174 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



TR 1 Tfd TG & T U i @87 ADC & TAMIR § oS §U S

n.-.
(@) ok

() 2n

n
+
Q) 2"+1

() DI el

Options :
1. A
2. % B
3.% C

4. % D

Question Number : 55 Question Id : 26723611175 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
The number of 24 decoder required to implement 4x16 decoder

(A) 1

(B) 3

© 4

(D) 5
Options :
1.+ A
2. % B

3.% C



4. % D

Question Number : 55 Question Id : 26723611175 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

4x16 TSP BT AN B F T 2x4 TEPIeR P} G 3awass &

() 1
3
(1) 4
() 5
Options :
1.¥ A
2. % B
3.%C
4. % D

Question Number : 56 Question Id : 26723611176 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Covert (BAD);s to ( )10

(A) 2459

(B) 2989

(C) 2343

(D) 2987



Options :
1.4 A
2. % B
3.% C

4. % D

Question Number : 56 Question Id : 26723611176 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

(BAD)16 I (__ )10 H uRafdd &%

2459
CE)) 2989
() 2343
3) 2987
Options :
1.¥ A
2. # B
3.% C
4. %D

Question Number : 57 Question Id : 26723611177 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is an undesirable dynamic characteristic of an instrument?

(A) Dead zone

(B) Reproducibility

(C) Time lag

(D) Static error
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 57 Question Id : 26723611177 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

fofafad 7 9 D9 91 Te SUDI0 B SAE-d Taid faLwdr g2

(@) EEEClE
FTedgdd

M THY fRTd

@  Wiiwe

Options :

1.+ A

2. % B

3.% C



4. % D

Question Number : 58 Question Id : 26723611178 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Which of the following relates the emf generated in a single homogeneous wire to the

temperature difference?

(A) Peltier effect

(B) Thomson effect

(C) Seeback effect

(D) none of these
Options:

1.¥ A

2. % B

3.% C

4. % D

Question Number : 58 Question Id : 26723611178 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



Fofafea & & $F T TS gIHi-Y aR H 3@ emf T0AH & SR ¥ Tefta 87

(@) fee T UuTa

(@) YT UHE

) Hew yug

@ TR

Options :
1.¥ A
2. % B
3. % C

4. % D

Question Number : 59 Question Id : 26723611179 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
Darlington pair amplifier can be popularly used as

(A) Buffer

(B) Higher output impedance device

(C) BothAandB

(D) None
Options :
1.¥v A

2. % B

3.% C



4. % D

Question Number : 59 Question Id : 26723611179 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25

ST IR TATBTER & 0 § GHRIG: YA f5ar o 96T 8

() §thy

Q) T JdATG Ufdane IuHu

) A 3 B S

(®) PIE Tl

Options :
1.¥ A
2. % B
3.% C

4. % D

Question Number : 60 Question Id : 26723611180 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25



The following opamp based circuit represents

[nput Output

(A) Integrator

(B) Differentiator

(C) Logamplifier

(D) Peak detector
Options :

1.¥ A

2. % B

3.% C

4. % D

Question Number : 60 Question Id : 26723611180 Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0.25
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(|) Ul feeder

Options:
1.¥A
2. % B
3.% C

4.% D
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